ThinkSoft Paper Pattern

 
Part A -> Replace the underlined word in the given sentence with the options given below without changing the meaning of the Word. 5 questions in this section.
Part B -> There will be a sentence which will have 4 underlined words you have to find which word is wrong - 5 questions.
Part C -> Antonyms - 5 questions 
Part D -> Synonyms – 5 questions.
Part E -> Logical Reasoning – 5 Questions
Part F -> Reading Comprehension – 5 questions
Part G -> Numerical Aptitude – 25 questions
Part H -> Data interpretation – 5 questions.
Paper contains about 60 questions for 1 hr
Part A : English test about 15-20 questions each carries 1 mark
Part B : quantitative test
Part C : Logical Reasoning
& some more.
Some questions:
Questions 1: From given table 4/5 questions were asked carries 5 marks each 
Average Good Excelt Total
---------------------------------------
Male | 10
Fem | 32
Total| 30
Given
i) 1/2 of the students were Good & excellent
ii)40% of th students are female
iii)1/3rd of male stuedents are average
Soln. :
Total Students * 40/100 = 32
=> tot studs = 32*100/40 = 80
=> tot Male studs = 80 - 32 = 48
48/3 = 16 male students are average
40 - 16 = 24 female ------ average
32 - 24 = 8 ------- -- good
16/80 = 24/80 => 2:3 proportion of male & female studs are average 
Hence,
Average good Exc tot
-----------------------------
M | 16 22 10 48
F | 24 8 0 32
-----------------------------
T | 40 30 10 80
Questions 2:
The statement "All shirts in the store are on sale" is false.
Which of the foll stns are true?
i)No shirts in the store are on sale
ii)Not all shirts in the store are on sale
iii)All shirts in the store are non-sale prices
iv)Some shirts in the store are on sale 
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